Va— b, ATAIENE FIAMEOEHZROEIEE)
(SFI6E6H1HKY)
N EERIR R4 ERLBREME 1 - 14%)
EXIET EXIE2 BN Ef 2 =3 Ef 4 ENHES

Bz |zkz| B [k Bz [zxz| B2 |snz]| B (shz| B [2xz| B (25

N 479 596 645 715 787 856 926
LA RIS 12 12
TN Rt 18 18
[ smpwmE 4
(e ) —
ERAHME I 8
EORARENE ~ 13
ZmE 184 - 184
S B B M GEnL) 509 626 700 770 842 911 981
XA RERE (M) 590 726 812 893 976 1056 1137

NRRBERND ., BIEES L F R INABI- &Y 1B~ 3EIREVET . (1B =5EM 1017 F &, kS8 10M)
SrEELRIR F A AIEE B 2K
ZxiE1 | EXE2 | BN ENHE2 | BNES | =NE4 | ENES

H=E-Z2K=E 9H 16H 24H 25H 30H 30H 30H

ﬁf.? %51 ( ZDH YxpELFDH

I EBiXE& / H BE-FEXE A5t/ B | -FHR

5 | =] 4

i |MRSARER) BR/F T Ew ZE= = ZhE | -=pnen

2y 1B B 300 320 0M 620 300M R

=1 2 Ex B 600 420M 370 1,020M 970M IRV INIVY )

% 3 ()] 1,000M 820 370M 1,820M 1,370M -FBE A (1,500 ~)

& 3B (2] 1,300M 820 370M 2,120M 1,670M HEBEEEWG,191M~ RS 5)

5 4 B% B 1,445M 1,171H 377H 2,616/ 1,822 CEEMEE -BEZDIRE

RBE EEER. 58 R UG SRI-5oC. RERERO R LY REI G OB T,
BEIHS (BE-FETER)

EXiR1 EXix2 B AN 233 eI Z1iES
& 8,517 9.874H 10,732 11,543M 12,378H 13,178 13,990

E
2 K E 7,723 9,080M 9,938M 10,749M 11,584 12,3841 13,196
MIBZEZBATEGTHRATDIGEES. IBONEELYIBEMBEEINET,
NELGZL(BE-BEEA)BME o618 B LK. fIsBRELLYETS,
EXE EXE2 ENiE ENiE E/iES EiEa E4riE5
1% 147,810M 131,856 86,808 M 85,575M 47,880 50,280 52,710

2 BB 159,810H 143,856H 98,808H 97,575 59,880 62,280H 64,710H

S 3 B (1) 183,810MH 167,856 122,808 121,575 83,880M 86,280 88,710M

3 & RE (2) 192,810H 176,856 131,808H 130,575H 92,880H 95,280H 97,710H

4 Bx B& 207,690 191,736 146,688 145,455 107,760M 110,160H 112,590H
1 B B& 138,210H 122,256 77,208H 75,975M 38,290M 40,680M 43,110
2 BB 158,310H 142,356H 97,308 96,075 58,380 60,780H 63,210H

ERE 3 B (1) 170,310M 154,356 4 109,308 108,075 70,380 72,780H 75,210H
3 &R (2) 179,310H 163,356 118,308H 117,075H 79,380H 81,780 84,210
4 B B& 183,870H 167,916 122,868 121,635 83,940M 86,340M 88,770M

RERAESHY (BE-EEHA)BHET
EXiE1 EXix2 I eI BIiES eI EIE

1B B 142,500/| 120,240 67,320M 63,250 18,600/ 18,600/ 18,600/
2 B & 154,500/  132,240M 79,320 75,250 30,600 30,600 30,600
E= 3 B P& (1)] 178500M]  156,240M|  103,320M 99,250 54,600 54,600 54,600
3B B (2)] 187500M| 165240M] 112,320M|  108,250M 63,600 63,600 63,600

4 Ex P& 202,380 180,120 127,200M 123,130M 78,480 78,480 78,480
1R 132,900 110,640 57,720M 53,650 9,000 9,000 9,000
2 X 153,000/ 130,740 77,820 73,750 29,1004 29,1004 29,100

ZRE 3 B (1) 165,000/ 142,740 89,820M 85,750 41,100M 41,100M 41,100M
3 K& RE (2) 174,000 151,740H 98,820 94,7504 50,1004 50,1004 50,100H
4 Bx B& 178,560 156,300 103,380 99,310 54,660 54,660 54,660




